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12. The coefficient of xn in the polynomial ( x+ nC0) ( x+3 nC1) ( x+5 nC2) ……..( x+(2n + 1) nCn) is 
 (A) n2n (B) n2n + 1 
 (C) (n +1)2n (D) n2n + 1 
 

13. Value of  
2

2

0

1.
2

n
n

r
r

r C
r   is equal to 

 (A) 
 

  

1 22 2 1 2
2 1 2 2

n n n
n n

   

 
 (B) 

 
  

2 1 22 2 1 2
2 1 2 2

n n n
n n

   

 
 

 (C) 
 

  

2 1 22 2 2 1
2 1 2 2

n n n
n n

  

 
 (D) None of these 

 

14. If R =  2 1
5 3 8

n
  and f = R – [R]; where [  ] denotes G. I. F., then R  f is equal to 

(A) 211 n      (B) 2 111 n  
(C) 2 111 n      (D) 11 

 

15. Value of  2

0

n n
i j

i j n
C C

  

  is  

(A) 2 2. 2n n
nn C   (B)   2 21 2n n

nn C   

(C)   2 21 2n n
nn C   (D)   2 21 2n n

nn C   
 
16. The remainder when 1037  is divided by 25 is 
 (A) 0 (B) 18 
 (C) 16 (D) 9 
 
17. The number 100101 1  is divisible by 
 (A) 10 (B) 210   
 (C) 310  (D) 410  
 

18. Integral part of  2 1
5 5 11

n
  is  

 (A) Even (B) Odd 
 (C) Neither (D) Can’t Say 
 
19. Let 2( ) 10 3 4 5;n nf n n N     . The greatest value of the integer which divides f(n) for all 

‘n’ is  
 (A)  27 (B) 9 
 (C) 3 (D) None 
 

20. If 
8

0

2 2 1,
1 6

n
n

r
r

r C
r

     
  then ‘n’ is  

 (A) 8 (B) 4 
 (C) 6 (D) 5
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